Moc transf.[kVA]: 40.0

Obwod nr: 1

Wezel | Odbiorca
Nrw/ |Dlug. | Adres wezla/ | Iz |Skut| Spad.nap.[%]/noc | Hr | Adres | Rodzaj |Faza|Ogrz. |
nrwp lodc(m] |s[mm2] | [A] lzer.| L1 | L2 | 13 |edb.| | | | [kW] |
20 12 ' 11042.9 | T | 0.02 | D.02 | 0.02 | 1] 1 [ I | |
1* | 20 3 x 35.0 + 35.0 Al| I | 0.02 | D.02 | 0.02 | | | | I |
Prad [A] Ll= 2.4 L2= 2.4 L3= 2.4 Prad/noc [A] Ll= 2.4 L2= 2.4 L3= 2.4
Wkladka bezpiecznikowa inst.-zwloczno-szybka 6. 00
3 | 13 j 791.0 | { 0.05 ) 0.05 ) 0.05 | 2| 2 | | I |
2* | 37 13 x 35.0 + 35.0 Al| I | 0.05 | 0.05 | 0.05 | I [ | | I
Prad [A] Ll= 2.2 L2= 2.2 L3= 2.2 Prad/noc [A] TLl= 2.2 L2= 2.2 L3= 2,2
4 | |4 | 626.5 | T | 0,08 | 0.08 | 0.08 | 3| 3 | | | |
3* | 37 |3 x 35.0+ 35.0 Al| | | 0.08 | D.08 | D.08 | | | | I |
Prad [&] Ll= 2.0 L2= 2.0 L3= 2.0 Prad/noc [A] Ll= 2.0 L2= 2.0 L3= 2.0
5 1 15 | 512.6 | T | 0.10 | 0.10 | 0.1C | 4 | 4 | | | |
4* | 38 |3 x 35,0 + 35.0 Al| I | 0.10 | 0.10 | 0.10 | | | | I |
Prad [A] Ll= 1.9 L2= 1.9 L3= 1.9 Prad/noc [A] Ll= 1.9 L2= 1.9 L3= 1.9
6 | 16 | 434.2 | T | 0.13 | ©0.13 | 0,13 | 5| & | | | |
5 | 37 |3 x 35.0+ 35.0 Al| | | 0.13 § 0.13 | 0.13 | | | | | |
Prad [A] Ll= 1.7 2= 1.7 L3= 1.7 Prad/noc [A] Ll= 1.7 LZ= 1.7 L3= 1.7
7 1 17 { 375.9 |'T | ©.I5 | O.E5 | @.15 | 6 | & | | | |
6* | 37 |3 x 35,0+ 35.0 Al) | | 0.15 | 0.15 | 0.15 | | | | | |
Prad [A] Ll= 1.5 L2= 1.5 L3= 1.5 Prad/noc [A] Ll= 1.5 L2= 1.5 L3= 1.5
8 | 18 | 331.2 I'T | 0.1%7 | ©.17 | @.x72 | ‘7T | 7 | | | |
7* | 37 13 x 35,0+ 35.0 Alj | [ 6.17 | 0.1 | 0,17 | | | | ‘ |
Prad [A] Ll= 1.3 L2= 1.3 L3= 1.3 Prad/noc [A] Ll= 1,3 L2= 1.3 L3= 1.3
9 | 19 | 293.2 T | 0.18 | 0.18 | 0.18 | B | 8 ] | | |
B | 40 |3 x 35.0 + 35.0 All | [ @.18 '} 0.18. | 0.18 | | I | | |
Prad [A] Ll= 1.2 L2= 1.2 L3= 1.2 Prad/noc [(A] Ll= 1,2 L2= 1.2 L3= 1.2
10 | |10 | 2569.6 | T | 0.20 | 0.20 | 0.20 | 9 | © | | |
9« | 45 |3 x 35.0 + 35.0 Al| | |1 0.20 | 0.20 | 0.20 | | | | | |
Prad [A] Ll= 1.0 L2= 1.0 L3= 1.0 Prad/nec [A] Ll= 1.0 L2= 1.0 L3= 1.0
11 | 111 1 231.3 | T | 0.21 | ©0.21 | ©0.21 } 10 | 10 | | | |
10« | 48 |3 x 35.0 + 35.0 Al| | | 0521, 1 021 F 0.Z1-| | | | | |
Prad [A] L1= 0.8 L2= 0.8 L3= 0.8 Prad/noc [A] Ll= 0.8 L2= 0.8 L3= 0.8
12 | 112 ] 209,7 | T |-0.23 | 0.23 | 0.23 | 11 | 11 | | | |
11* | 45 |3 x 35.0 + 35.0 Al| | | 0.23 | 0.23 | 0.23 | | | | | |
Prad [A] L1= 0.7 L2= 0.7 L3= 0.7 Prad/noc [A] Ll= 0.7 L2= 0.7 L3= 0.7
13 | 113 | 183.0 | T | 0.23 ) 0.23 | 0.23 | 12 | 12 | | | I
12* | 42 |3 x 35.0 + 35.0 Al| | 1 0.23 | 0.23 | 0.23 | | | | | |
Prad [A] Ll= 0.5 L2= 0.5 L3= 0.5 Prad/no¢ [A] Ll1= 0.5 L2= 0.5 L3= 0.5
Str
Oddzial 10 s Moc transf. [kVA]: 40.0
Wezel | Odbiorca
Nrw/ |Dlug. | Adres wezla/ | Iz |Skut| Spad.nap.[%]/noc | Nr | Adres | Rodzaj IFaz;?(-);;;T[
nrwp |odc(m] |s[mm2] | [A] lzer.] L1 | L2 | L3 |odb.| | | | [kw]|
14 | 114 [ 178.6 | T | 0.24 | 0.24 | 0.24 | 13 | 13 1 FER i i
13* | 42 |3 x 35.0 + 35.0 All] | | 0.24 | 0.24 | 0.24 | I | | | |
Prad [A] Ll= 0.3 L2= 0.3 L3= 0.3 Prad/noc [A] Ll= 0.3 L2= 0.3 L3= 0.3 .
15 Jkoniec]|l5 ] 164.1 | T | 0,24 | 0.24 | Q.24 | 14 | 14 | | | I
14 | 50 |3 x 35.0 + 35.0 al| | | 0.24 | 0.24 | 0.24 | | | | I I
Prad [A] Ll= 0.2 L2= 0.2 L3= 0.2 Prad/noc [A] Ll= 0.2 L2= 0.2 L3= 0.2
Moc czynna obwodu [kW] | 0.5] 0.5] 0.5]
- " - dla strefy nocnej | 0.5 0.5] 0.5]
Moc bierna obwodu [kvar] | 0.2] 0.2 0.2)

- dla strefy nocnej | 0.2 0.2 0.21



